CASE WHEN ( Val DSC Q1 IS NULL AND ( Val DSC Q2 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q4 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q2 + Val DSC Q3 + Val DSC Q4 + Val DSC Q5 ) / 4 WHEN ( Val DSC Q2 IS NULL AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q4 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q3 + Val DSC Q4 + Val DSC Q5 ) / 4 WHEN ( Val DSC Q3 IS NULL AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q2 IS NOT NULL AND Val DSC Q4 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q2 + Val DSC Q4 + Val DSC Q5 ) / 4 WHEN ( Val DSC Q4 IS NULL AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q2 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q2 + Val DSC Q3 + Val DSC Q5 ) / 4 WHEN ( Val DSC Q5 IS NULL AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q2 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q4 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q2 + Val DSC Q3 + Val DSC Q4 ) / 4 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q2 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q5 IS NULL ) AND Val DSC Q4 IS NOT NULL ) THEN ( Val DSC Q4 ) / 1 WHEN ( ( Val DSC Q2 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q4 IS NULL AND Val DSC Q5 IS NULL ) AND Val DSC Q1 IS NOT NULL ) THEN ( Val DSC Q1 ) / 1 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q4 IS NULL AND Val DSC Q5 IS NULL ) AND Val DSC Q2 IS NOT NULL ) THEN ( Val DSC Q2 ) / 1 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q2 IS NULL AND Val DSC Q4 IS NULL AND Val DSC Q5 IS NULL ) AND Val DSC Q3 IS NOT NULL ) THEN ( Val DSC Q3 ) / 1 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q2 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q4 IS NULL ) AND Val DSC Q5 IS NOT NULL ) THEN ( Val DSC Q5 ) / 1 WHEN Val Q1 IS NOT NULL THEN Val Q1 CASE WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q2 IS NULL ) AND ( Val DSC Q3 IS NOT NULL AND Val DSC Q4 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q3 + Val DSC Q4 + Val DSC Q5 ) / 3 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q3 IS NULL ) AND ( Val DSC Q2 IS NOT NULL AND Val DSC Q4 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q2 + Val DSC Q4 + Val DSC Q5 ) / 3 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q4 IS NULL ) AND ( Val DSC Q2 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q2 + Val DSC Q3 + Val DSC Q5 ) / 3 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q2 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q4 IS NOT NULL ) ) THEN ( Val DSC Q2 + Val DSC Q3 + Val DSC Q4 ) / 3 WHEN ( ( Val DSC Q2 IS NULL AND Val DSC Q3 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q4 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q4 + Val DSC Q5 ) / 3 WHEN ( ( Val DSC Q2 IS NULL AND Val DSC Q4 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q3 + Val DSC Q5 ) / 3 WHEN ( ( Val DSC Q2 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q3 IS NOT NULL AND Val DSC Q4 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q3 + Val DSC Q4 ) / 3 WHEN ( ( Val DSC Q3 IS NULL AND Val DSC Q4 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q2 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q2 + Val DSC Q5 ) / 3 WHEN ( ( Val DSC Q3 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q2 IS NOT NULL AND Val DSC Q4 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q2 + Val DSC Q4 ) / 3 WHEN ( ( Val DSC Q4 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q2 IS NOT NULL AND Val DSC Q3 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q2 + Val DSC Q3 ) / 3 CASE WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q2 IS NULL AND Val DSC Q3 IS NULL ) AND ( Val DSC Q4 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q4 + Val DSC Q5 ) / 2 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q2 IS NULL AND Val DSC Q4 IS NULL ) AND ( Val DSC Q3 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q3 + Val DSC Q5 ) / 2 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q2 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q3 IS NOT NULL AND Val DSC Q4 IS NOT NULL ) ) THEN ( Val DSC Q3 + Val DSC Q4 ) / 2 WHEN ( ( Val DSC Q3 IS NULL AND Val DSC Q4 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q2 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q2 ) / 2 WHEN ( ( Val DSC Q2 IS NULL AND Val DSC Q4 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q3 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q3 ) / 2 WHEN ( ( Val DSC Q2 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q4 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q4 ) / 2 WHEN ( ( Val DSC Q2 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q4 IS NULL ) AND ( Val DSC Q1 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q1 + Val DSC Q5 ) / 2 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q4 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q2 IS NOT NULL AND Val DSC Q3 IS NOT NULL ) ) THEN ( Val DSC Q2 + Val DSC Q3 ) / 2 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q5 IS NULL ) AND ( Val DSC Q2 IS NOT NULL AND Val DSC Q4 IS NOT NULL ) ) THEN ( Val DSC Q2 + Val DSC Q4 ) / 2 WHEN ( ( Val DSC Q1 IS NULL AND Val DSC Q3 IS NULL AND Val DSC Q4 IS NULL ) AND ( Val DSC Q2 IS NOT NULL AND Val DSC Q5 IS NOT NULL ) ) THEN ( Val DSC Q2 + Val DSC Q5 ) / 2 ELSE ( Val DSC Q1 + Val DSC Q2 + Val DSC Q3 + Val DSC Q4 + Val DSC Q5 ) / 5 END
